

①

$$\begin{array}{r} 83 \\ 11 \overline{)920} \\ \underline{88} \\ 40 \\ \underline{33} \\ 7 \end{array}$$

②

$$\begin{array}{r} 23 \\ 40 \overline{)925} \\ \underline{80} \\ 125 \\ \underline{120} \\ 5 \end{array}$$

③

$$\begin{array}{r} 22 \\ 35 \overline{)790} \\ \underline{70} \\ 90 \\ \underline{70} \\ 20 \end{array}$$

④

$$\begin{array}{r} 25 \\ 38 \overline{)952} \\ \underline{76} \\ 192 \\ \underline{190} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 19 \\ 43 \overline{)824} \\ \underline{43} \\ 394 \\ \underline{387} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 33 \\ 26 \overline{)870} \\ \underline{78} \\ 90 \\ \underline{78} \\ 12 \end{array}$$

⑦

$$\begin{array}{r} 21 \\ 44 \overline{)948} \\ \underline{88} \\ 68 \\ \underline{44} \\ 24 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 34 \overline{)542} \\ \underline{34} \\ 202 \\ \underline{170} \\ 32 \end{array}$$

⑨

$$\begin{array}{r} 13 \\ 26 \overline{)344} \\ \underline{26} \\ 84 \\ \underline{78} \\ 6 \end{array}$$

①

$$\begin{array}{r} 21 \\ 33 \overline{) 708} \\ \underline{66} \\ 48 \\ \underline{33} \\ 15 \end{array}$$

②

$$\begin{array}{r} 45 \\ 19 \overline{) 869} \\ \underline{76} \\ 109 \\ \underline{95} \\ 14 \end{array}$$

③

$$\begin{array}{r} 71 \\ 13 \overline{) 925} \\ \underline{91} \\ 15 \\ \underline{13} \\ 2 \end{array}$$

④

$$\begin{array}{r} 21 \\ 15 \overline{) 320} \\ \underline{30} \\ 20 \\ \underline{15} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 24 \\ 20 \overline{) 485} \\ \underline{40} \\ 85 \\ \underline{80} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 42 \\ 16 \overline{) 673} \\ \underline{64} \\ 33 \\ \underline{32} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 46 \\ 21 \overline{) 974} \\ \underline{84} \\ 134 \\ \underline{126} \\ 8 \end{array}$$

⑧

$$\begin{array}{r} 89 \\ 11 \overline{) 985} \\ \underline{88} \\ 105 \\ \underline{99} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 21 \\ 28 \overline{) 603} \\ \underline{56} \\ 43 \\ \underline{28} \\ 15 \end{array}$$

①

$$\begin{array}{r} 39 \\ 16 \overline{) 630} \\ \underline{48} \\ 150 \\ \underline{144} \\ 6 \end{array}$$

②

$$\begin{array}{r} 11 \\ 22 \overline{) 259} \\ \underline{22} \\ 39 \\ \underline{22} \\ 17 \end{array}$$

③

$$\begin{array}{r} 27 \\ 26 \overline{) 705} \\ \underline{52} \\ 185 \\ \underline{182} \\ 3 \end{array}$$

④

$$\begin{array}{r} 16 \\ 41 \overline{) 677} \\ \underline{41} \\ 267 \\ \underline{246} \\ 21 \end{array}$$

⑤

$$\begin{array}{r} 22 \\ 34 \overline{) 773} \\ \underline{68} \\ 93 \\ \underline{68} \\ 25 \end{array}$$

⑥

$$\begin{array}{r} 23 \\ 11 \overline{) 263} \\ \underline{22} \\ 43 \\ \underline{33} \\ 10 \end{array}$$

⑦

$$\begin{array}{r} 19 \\ 23 \overline{) 459} \\ \underline{23} \\ 229 \\ \underline{207} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 27 \\ 22 \overline{) 602} \\ \underline{44} \\ 162 \\ \underline{154} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 19 \\ 25 \overline{) 498} \\ \underline{25} \\ 248 \\ \underline{225} \\ 23 \end{array}$$

①

$$\begin{array}{r} 21 \\ 25 \overline{) 545} \\ \underline{50} \\ 45 \\ \underline{25} \\ 20 \end{array}$$

②

$$\begin{array}{r} 15 \\ 37 \overline{) 581} \\ \underline{37} \\ 211 \\ \underline{185} \\ 26 \end{array}$$

③

$$\begin{array}{r} 13 \\ 30 \overline{) 415} \\ \underline{30} \\ 115 \\ \underline{90} \\ 25 \end{array}$$

④

$$\begin{array}{r} 69 \\ 13 \overline{) 898} \\ \underline{78} \\ 118 \\ \underline{117} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 21 \\ 21 \overline{) 442} \\ \underline{42} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 52 \\ 18 \overline{) 950} \\ \underline{90} \\ 50 \\ \underline{36} \\ 14 \end{array}$$

⑦

$$\begin{array}{r} 25 \\ 25 \overline{) 644} \\ \underline{50} \\ 144 \\ \underline{125} \\ 19 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 14 \overline{) 218} \\ \underline{14} \\ 78 \\ \underline{70} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 32 \\ 11 \overline{) 358} \\ \underline{33} \\ 28 \\ \underline{22} \\ 6 \end{array}$$

①

$$\begin{array}{r} 21 \\ 43 \overline{) 912} \\ \underline{86} \\ 52 \\ \underline{43} \\ 9 \end{array}$$

②

$$\begin{array}{r} 16 \\ 12 \overline{) 198} \\ \underline{12} \\ 78 \\ \underline{72} \\ 6 \end{array}$$

③

$$\begin{array}{r} 51 \\ 19 \overline{) 971} \\ \underline{95} \\ 21 \\ \underline{19} \\ 2 \end{array}$$

④

$$\begin{array}{r} 56 \\ 11 \overline{) 618} \\ \underline{55} \\ 68 \\ \underline{66} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 17 \\ 37 \overline{) 657} \\ \underline{37} \\ 287 \\ \underline{259} \\ 28 \end{array}$$

⑥

$$\begin{array}{r} 38 \\ 17 \overline{) 653} \\ \underline{51} \\ 143 \\ \underline{136} \\ 7 \end{array}$$

⑦

$$\begin{array}{r} 49 \\ 15 \overline{) 745} \\ \underline{60} \\ 145 \\ \underline{135} \\ 10 \end{array}$$

⑧

$$\begin{array}{r} 63 \\ 12 \overline{) 762} \\ \underline{72} \\ 42 \\ \underline{36} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 16 \\ 13 \overline{) 219} \\ \underline{13} \\ 89 \\ \underline{78} \\ 11 \end{array}$$

①

$$\begin{array}{r} 19 \\ 24 \overline{) 478} \\ \underline{24} \\ 238 \\ \underline{216} \\ 22 \end{array}$$

②

$$\begin{array}{r} 21 \\ 20 \overline{) 436} \\ \underline{40} \\ 36 \\ \underline{20} \\ 16 \end{array}$$

③

$$\begin{array}{r} 37 \\ 14 \overline{) 529} \\ \underline{42} \\ 109 \\ \underline{98} \\ 11 \end{array}$$

④

$$\begin{array}{r} 23 \\ 22 \overline{) 507} \\ \underline{44} \\ 67 \\ \underline{66} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 11 \overline{) 205} \\ \underline{11} \\ 95 \\ \underline{88} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 14 \\ 30 \overline{) 445} \\ \underline{30} \\ 145 \\ \underline{120} \\ 25 \end{array}$$

⑦

$$\begin{array}{r} 22 \\ 20 \overline{) 441} \\ \underline{40} \\ 41 \\ \underline{40} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 31 \overline{) 487} \\ \underline{31} \\ 177 \\ \underline{155} \\ 22 \end{array}$$

⑨

$$\begin{array}{r} 66 \\ 11 \overline{) 729} \\ \underline{66} \\ 69 \\ \underline{66} \\ 3 \end{array}$$

①

$$\begin{array}{r} 11 \\ 38 \overline{)446} \\ \underline{38} \\ 66 \\ \underline{38} \\ 28 \end{array}$$

②

$$\begin{array}{r} 62 \\ 15 \overline{)935} \\ \underline{90} \\ 35 \\ \underline{30} \\ 5 \end{array}$$

③

$$\begin{array}{r} 62 \\ 11 \overline{)686} \\ \underline{66} \\ 26 \\ \underline{22} \\ 4 \end{array}$$

④

$$\begin{array}{r} 13 \\ 42 \overline{)585} \\ \underline{42} \\ 165 \\ \underline{126} \\ 39 \end{array}$$

⑤

$$\begin{array}{r} 15 \\ 33 \overline{)527} \\ \underline{33} \\ 197 \\ \underline{165} \\ 32 \end{array}$$

⑥

$$\begin{array}{r} 13 \\ 32 \overline{)426} \\ \underline{32} \\ 106 \\ \underline{96} \\ 10 \end{array}$$

⑦

$$\begin{array}{r} 31 \\ 25 \overline{)792} \\ \underline{75} \\ 42 \\ \underline{25} \\ 17 \end{array}$$

⑧

$$\begin{array}{r} 57 \\ 11 \overline{)633} \\ \underline{55} \\ 83 \\ \underline{77} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 21 \\ 44 \overline{)929} \\ \underline{88} \\ 49 \\ \underline{44} \\ 5 \end{array}$$

①

$$\begin{array}{r} 18 \\ 44 \overline{) 827} \\ \underline{44} \\ 387 \\ \underline{352} \\ 35 \end{array}$$

②

$$\begin{array}{r} 41 \\ 11 \overline{) 460} \\ \underline{44} \\ 20 \\ \underline{11} \\ 9 \end{array}$$

③

$$\begin{array}{r} 14 \\ 30 \overline{) 431} \\ \underline{30} \\ 131 \\ \underline{120} \\ 11 \end{array}$$

④

$$\begin{array}{r} 69 \\ 11 \overline{) 765} \\ \underline{66} \\ 105 \\ \underline{99} \\ 6 \end{array}$$

⑤

$$\begin{array}{r} 51 \\ 14 \overline{) 715} \\ \underline{70} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 18 \\ 43 \overline{) 795} \\ \underline{43} \\ 365 \\ \underline{344} \\ 21 \end{array}$$

⑦

$$\begin{array}{r} 24 \\ 27 \overline{) 657} \\ \underline{54} \\ 117 \\ \underline{108} \\ 9 \end{array}$$

⑧

$$\begin{array}{r} 34 \\ 17 \overline{) 581} \\ \underline{51} \\ 71 \\ \underline{68} \\ 3 \end{array}$$

⑨

$$\begin{array}{r} 13 \\ 37 \overline{) 511} \\ \underline{37} \\ 141 \\ \underline{111} \\ 30 \end{array}$$

①

$$\begin{array}{r} 26 \\ 12 \overline{) 313} \\ \underline{24} \\ 73 \\ \underline{72} \\ 1 \end{array}$$

②

$$\begin{array}{r} 44 \\ 14 \overline{) 623} \\ \underline{56} \\ 63 \\ \underline{56} \\ 7 \end{array}$$

③

$$\begin{array}{r} 42 \\ 14 \overline{) 595} \\ \underline{56} \\ 35 \\ \underline{28} \\ 7 \end{array}$$

④

$$\begin{array}{r} 26 \\ 11 \overline{) 289} \\ \underline{22} \\ 69 \\ \underline{66} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 42 \\ 21 \overline{) 898} \\ \underline{84} \\ 58 \\ \underline{42} \\ 16 \end{array}$$

⑥

$$\begin{array}{r} 36 \\ 20 \overline{) 737} \\ \underline{60} \\ 137 \\ \underline{120} \\ 17 \end{array}$$

⑦

$$\begin{array}{r} 48 \\ 12 \overline{) 585} \\ \underline{48} \\ 105 \\ \underline{96} \\ 9 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 38 \overline{) 634} \\ \underline{38} \\ 254 \\ \underline{228} \\ 26 \end{array}$$

⑨

$$\begin{array}{r} 32 \\ 20 \overline{) 652} \\ \underline{60} \\ 52 \\ \underline{40} \\ 12 \end{array}$$

①

$$\begin{array}{r} 17 \\ 34 \overline{) 605} \\ \underline{34} \\ 265 \\ \underline{238} \\ 27 \end{array}$$

②

$$\begin{array}{r} 78 \\ 11 \overline{) 868} \\ \underline{77} \\ 98 \\ \underline{88} \\ 10 \end{array}$$

③

$$\begin{array}{r} 61 \\ 12 \overline{) 737} \\ \underline{72} \\ 17 \\ \underline{12} \\ 5 \end{array}$$

④

$$\begin{array}{r} 34 \\ 18 \overline{) 617} \\ \underline{54} \\ 77 \\ \underline{72} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 56 \\ 12 \overline{) 681} \\ \underline{60} \\ 81 \\ \underline{72} \\ 9 \end{array}$$

⑥

$$\begin{array}{r} 38 \\ 16 \overline{) 617} \\ \underline{48} \\ 137 \\ \underline{128} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 23 \\ 36 \overline{) 830} \\ \underline{72} \\ 110 \\ \underline{108} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 77 \\ 11 \overline{) 850} \\ \underline{77} \\ 80 \\ \underline{77} \\ 3 \end{array}$$

⑨

$$\begin{array}{r} 27 \\ 24 \overline{) 651} \\ \underline{48} \\ 171 \\ \underline{168} \\ 3 \end{array}$$